THedE AQA-HEHEHK

H#ER: AKX TH6E (HFHH)
T 8 B % 1A | 2R | 8A | 4B | 5A  6A | 7R  8A | 9A | 10A | 11A | 12A
i i 222 223
fi Fh 234 229
i & W 157 157
& E b B 241 248
i Jb| 239 240
i T 151 154
X K E 143 142
X K F 96 95
[ | 157] 157
X < 72 71
L] H 90 89
B ] 51 51
w R 181 181
i R 62 62
=1 Bt 2102 2,097 0 0 0 0 0 0 0 0 0 0




THedE AQA-HEHEHK

H#ER:AX FH6E(AA)
T W B % 1A | 2R | 8A | 4R | 5A | 6A | 7R | 8A | 9A | 10A | 11A | 12RH
i £ 587 587
1 s 569 563
i a3 = 432 434
E 2 bH B 751 751
L] $ it 495 495
(] T 440 441
X i’ + 343 341
X '\ T 291 287
B 15 434 433
X & 199 198
B M 259 258
& i 160 160
LN =} 446 445
1 3 153 153
a8 Bt 5559 5546 0




THedE AQA-HEHEHK

HEER:AX SH6FE (BxAIAQ)
1A 28 38 48 58 68 78 8A 98 108 | 118 | 128
B L&) 274 274
(%) 313 313
5 (5 303 297
(%) 266 266
fish R (5H) 221 222
(%) 211 212
LEDHLE(B) 390 388
(%) 361 363
firehdt (5) 211 209
(%) 284 286
s T(H) 218 219
(%) 222 222
RKILE(H) 161 160
(%) 182 181
RKIET(5) 138 135
(%) 153 152
By J/(5) 230 229
(%) 204 204
X FBHB) 99 99
(%) 100 99
B H(EB) 142 141
(%) 117 117
B’ &5 86 86
(%) 74 74
B RGEB) 249 249
(%) 197 196
i R 77 77
(%) 76 76
;] B 2799 2785 0
= | 2760/ 2761 0
a8 Br| 5559/ 5546




